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0.19991 hw
g. Léwaku 05-040-0552-0002 gJninuinuntiuwyw wy| hnnwwnbiup |wj| hnnwwnbiup 21500
0.62325 h
g. Léwyku 05-040-0228-0038 W gjninununbuwlwu  [wpnnwdwip  |wpnunwyw)n 33500
0.4 hw
g. Léwaku 05-040-0202-0065 gJninuinuntiuwyw wpnunwywjp  jwpnuwyw)n 21500
g. dinwdwywu |05-024-247-0012 6.86065 hw |gninwwntunbuwlywu  |wpnunwywyp  [wpnuwydw)p 737520
g. ondwgynin  [05-049-0141-0635 1.47hw gJninwununtbuwywu w)| hnnwwbup [wj] hnnwwnbup 79100
g. ondwgynin  [05-049-0141-0633 0.5261 hw gJninwununtbuwywu w)| hnnwwbup [w)] hnnwwnbup 28280




